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i mport java. appl et. Appl et ;
i mport java.aw.?*;
i mport java.aw.event.*;

public class Nunbers extends Applet inplements ActionListener {
Label promptl, pronpt2, pronpt3;
TextField inputl, input2, input3;

i nt nunber1, nunber?2, nunber3;
int sum product, smallest, |argest;
fl oat average;

Button go_button = new Button("Go!");
String result = "";

public void init() {
prompt 1l = new Label ( "First integer" );
add( pronptl );

inputl = new TextField( 10 );
add( inputl );

NNNNNNNNNRPRRRRRR R R R
NOoURWONROOONOURWNROOINOORWNE

pronmpt2 = new Label ( "Second integer" );

28 add( pronpt2 );

29

30 i nput2 = new TextField( 10 );

31 add( input2 );

32

33 prompt3 = new Label ( "Third integer" );

34 add( pronpt3 );

35

36 i nput3 = new TextField( 10 );

37 add( input3 );

38

39 go_but t on. addActi onLi stener( this);

40 add( go_button);

41 }

42

43 public void paint( Gaphics g)

44 g.drawstring( "The results are:", 70, 125 );

45

46 g.drawstring( "Sum " + sum 100, 140);

47 g.drawString( "Average: " + average, 100, 155);
48 g.drawstring( "Product: " + product, 100, 170);
49 g.drawstring( "Smallest: " + smallest, 100, 185);
50 g.drawstring( "Largest: " + |argest, 100, 200);
51 }

52

53 public void actionPerforned( ActionEvent e) {

54 int tenmpsmall, tenplarge;

55

56 nunber1l = I nteger.parselnt( inputl.getText() );
57 nunber2 = Integer.parselnt( input2.getText() );
58 nunber3 = I nteger.parselnt( input3.getText() );
59

60 sum = nunber1l + nunber2 + nunber 3;

61 average = (nunberl + nunber2 + nunber3) / 3;

62 product = nunberl * nunber2 * nunber3 ;

63

64 if ( nunberl < nunber2 ) {

65 tenpsmal | = nunber 1;

66 } else {

67 tenmpsmal | = nunber 2;

68 }

69 if ( tenmpsmall < nunber3) {

70 smal | est = tenpsnal | ;

71 } else {

72 smal | est = nunber 3;

73

74

75 if ( nunberl > nunber2 ) {
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76 t enpl arge = nunber 1;
77 } else {

78 tenpl arge = nunber 2;
79 }

80 if ( tenplarge > nunber3) {
8l | argest = tenpl ar ge;
82 } else {

83 | argest = nunber 3;
84 }

85

86 repaint();

87 }

88 }

89






